D 93369 | © (Pages:3)

MCM 1C 03—QUANTITATIVE. ' BUSINESS DECISIONS
Time : Three Hours Maximum : 30 Weigﬁtage

1, section.

emain the same.

3. There will be an overall ceiling for each Sectzon 2 & that is equivalent t
of the Section / Part. : =

(4 x 2 = 8 weightage)

145 ¢ watloﬁ of 20 cm. She takes a random
dents and find t_h' " 'the average haght of her sample is 147 cm. Are 7% graders
1 they were before ? uct a single tailed hypothesis test usmg a .05 significance
e the null and alternat 3 hypotheses.

How tallel'_;
level to ey:

Turn over




10. Use the sign test to see if thereis a differe
account receivable before and after ax

Before : 33
After

11. The following inforn

" Run by men
Run by women B
Total 20

Can it be inferred that shops run by women
test.

Use the
" common




16, Set up an analysis of Variance table for,

7

Igures are in metric

Also state whether variety differences are significant at 5%
tonnes) '

17. FoIlo_{ving is the distribution of students ace

Calculate

i) The ficient of regression ; and

i) _ Obtain‘-the two regression equations;

(2 x 5 = 10 weightage)




